20114 E18HEEVRA—IXBFEAS

&= S — Yk - IERRESE A — .
S = S o TDK#ZS Y E: Aad—F(ERS)
(40mHE] 1 R 5 % > F 2%  TDKY5YF:Ba—h(XAD)
=3 TDKZSvE:Aa—Fk R =
E=3) 7 = (RR%) & % |\ _ 'J' A > |\
PL—FA A1 A2 A3 B | Bs | A :; ks 218 TOKFSUE:AB a— h(ERS)
=] —
Ay EER ﬁﬁﬁi 5 — 0|0 — 0|4 5 0 5 1 B B N\FETS
_NF
po HER i;ﬁff7 0o — 5 2 — 3|02 8 -6 3 @R FOTUA—NEBLOIVE
DI
as EAR i?gﬁa 0o — 0|3 — 2 4 32 1 2 W3 TUVLRERS Y40
21 TDKZSYE: Aa— FERAS) EA4hr: LWbhEYZ=FFC
ZL—7B B 1 B2 B3 Ba | BA | A i; etz
g LR i;f;i 1 — 20 — 3|0/ 1|5 /|-4| 3
po HIR E_fx 2 — 1 — 114 3 2 1|2 VAIPALA
B3 BEE HEoRE 3 — o0 i — 4| a 1 3 1 NEETZ 3
WhEY=7FC
2448 TDKZ5Y K :Ba— h(ERZ) whEyzy| KA ,
J\
_ . (eSS "
JL—7JC C1 Cc2 c3 L LS oy BY -7 1 =
LR B-—RE T 2
c1 e 1 — 2012 — 2|1/3|2/|-1]2 , | WbEY=7 .
BBR B—R=% TDK-A
°2 fooyA—nmBLYzvE| 2 2 — 0|6 4 5 3 1 » 7
c3 E*if;ff_xm 2 — 2|0 — 2 12 5 -2|3 CY"N-T 141
. 3 FCTY A—OFE 1 =
21 TDK#YS5YR:Ba—r(KRAS)
JL—7D D1 D2 D3 BA | B | £A i; e <wurmmsyom| KB 0
THE B-RE
Dl ULmEE Y 540 2 - 1|3 - 116/47273 1 D4 I-T 14
9% 1= A
bz M/L;xaiffmm 1T - 2 2 — 3|03 5 -2 3 TUYLBESR Y 540 0
BAR BoAE
O3 T famm*yh—R40 1 - 33 — 2 3 4|5 12
[60mLLE] 3 8 iz R = B
238 SAESY—2T 4 — R(ERE) RiF TDKZS v R :AB a— FEREZ)
FL—FA AT A2 A3 A | AR | xR | 2| RB N — b
= — E3 IZMETY—2 T4 —L R(EARS)
a1 BER fﬁfia 5 — 0|2 — 106,71 6|1
h, BFR BoRE 0o — = T~ slolals 13 B B WwkEtz
EERY H—Z50 e R,
Az EBR BoRE 1 — 2013 — 1 3.4 3 1 2 :
HA0ESC50 3 +HEFXFvH—X
28 THETY—2 T4 —IL RERE)
e wAfr: NFHTS
JL—7B B1 B2 B3 B | Ba | &4 Zz [[:s
HER BoRE
Bl AL =75 0SC 2 — 01 = 213321 2
g2 BER f;;fw 0o — 5 0o — 2|0 0 4 -4 3 A7 LT 141
gy LR B=KE 2 1] 2 0 6 4 1 3 1 NEETZ 0
WL &+ AFC - -
218 KHELBRBEAL) 0 NEETS 0
_ . Bk "
JiL—7JC C1 Cc2 c3 BR | @R | KR DO | B BY -7 1 PK 0
il 1= — —
cq MER i;*f* 2 — 1|1 — o|6 38 1|2 f WHE £ RFC 2 o8
— . i
BBR B_AZ
c2 Wh%Y=FPFC50 1T - 2 T — 0137272102 T
THE B-RE
o3 R 0 — 10 — 1 0 0 2 -2 3 — .
215 KHEEFREIH(RRZ) 2TDK 0
= _ S
ZL—FD D1 D2 D3 A | AR | xR | Tr | PK_8-2
— A +HEFyH—X50
BRR BoAE 1 0
Pl mmEyH—Z50 2 — 1)1 = 016 4)0) 4 1
Wke s—RE _ _ _ DY W-T' 141
Do M e 0 3 0 110 0 4 -4 3 P 0
EER B A% HE*Fy H—
s BN e |0 — 1|1 — 0 3 1110 2




20114 H18EIHFIIRI—ZEFEAR
605% - 705E LLE RBEN—F AN BRI R ERME S
[60mkLL L] RESSUUN/ IBALRER

a¥F60
|

0 1 7B AN —Huh—I5(ERE)
7/10 11:00~ .
‘\EAVN—Hyh—15 B B |5F60
(608 A b SRES) N ) "
60F\ H &k £F60 3L |EHIT=VIR
FAR : |+ FEFYH—Z> =760
+MEFvH—X2 =760 T I =YX EERFCR)— A60 =BEY=760
A2z B2z A3fiL B34L
| 7/10 9:00~ 7/10 10:00~
0 7B AN —Hyh— 1 4 1 e AN —Hy h—1 1

|
B Iz=vIX

[60mLLl L] FESTURKER

KRB ABHIMN =Y yh—15

(S

AT IL—TF A-1 A-2 A-3 B | @A kR| |
MEERE
AR 2 — 5 1 — 0 |3]3]|5/-2]|2

+HAFYH—X2 =760

W B
EBIFCR)— 460 1 — 2 0 — O|1]3]-23

KRB ABHIN =Yy h—15

BYIL—F B-1 B-2 B-3 won ||| L (WR
BFREAE
S560 1 — 0 | 1 — 0 [6]2]|0]|2]1
EHEAR
T 0 — 1 3 — 0 [3]38|1]2|2
BERARE
e Bs=760 o — 1 | 0 — 3 0|0|4|-4|3

215 WET/\BE EHRS AR IVMR—L 25—

AS L —F =i BB LiF BEH | BT U |Ba|es|xa| T w
R i — 0|4 — 1|0 — 2|4 — 0|9]|9|3]|6]1
*E%ﬁ‘%z%,:m 0 — 1 0 — 0|1 — 08 — 1|7]|4]2]2]2
ek — i — 4]0 — 0 0 — 1[0 — 1|1]|1]6]-5]5
%ﬁﬁﬁiﬁazﬂo 2 — 010 — 11 — 0 0 — 0|7(3|1]2]|3
%izi%;ffa:ﬂo 0 — 41 — 38]1 — 0]0 — 0 I e




